
Januar 2007

Diese Anleitung ist nach unserem derzeitigen Kenntnis-
stand verfasst. Rechtliche Ansprüche auf Richtigkeit 
bestehen nicht. Technische Änderungen vorbehalten.

Sehen Sie auch in unserem Katalog 
oder im Internet unter www.touratech.com

 

DIN EN ISO 9001:2000 

Zertifikat 15 100 42285 

Montage

Lenkerschelle mit dem Rändelbolzen am 
Seitenständer anbringen, siehe Bilder.

Achtung! Wichtige Hinweise

Lieferumfang:
1 x Rändelbolzen (A)
1 x Schraube ZYKo M6
1 x U-Scheibe klein M6
1 x Lenkerschelle gummiert (B)

January 2007

01-049-0129-0

Installation Instruction:  Side Stand
Folding Aid BMW G650Xchallenge

Installation

Put rubberized pipe clamp (B) around the 
side stand.  Attach then the long knurled 
nut with internal thread (A) using the 
supplied M6 screw and washer on the 
rubberized clamp.  Adjust the folding aid 
in most convenient position and tighten 
the screw.

Attention: important tips, explanations

Contains:
1 x Long knurled nut with internal thread 
1 x Screw cylinder head M6
1 x Washer M6 small
1 x Pipe clamp rubberized 

Anleitung Produktname

These instructions are at our present level of 
knowledge.  Legal requirements for correctness do not 
exist.  Technical issues subject to change.

A

B


